RERETHBNGLE

A ki

o 56

TAEERFEE KRS

NENERIMOHESE E—F L—R—LEHE

. & JN—TEMAY  HERE e
7IL—TA == _
1 IR ah [30 A [31 IRABAT |pk| zr o N
IR | F—L | 'k [RKaor] ok [Raor] ok [R1ok ﬂf G Ak
slelslelglelslelaglxlsl£™Blal g £ [=dE/x
1 |1 EEA 110]28[17| 1|0|28[19] 4 0|56 |36 | 1.556
3 (30 LEBER 1117(28 0| 1]14]|28| 2 2131 |56 | 0.554
2 |31 REBRT 1119(28| 1| 0|28/14 3 114742 1.119
7 )L—7JB = . —
2 ll‘&Hylth 29 ;“ ﬂnllj? 32 5 L K| =+ A © -~
BRI | F—L | 'k |[Raok| £k |[Raor| £k [Raok e RAvh
slelslxlglalslelalzlsl2]™glal s £ [=2@\E/%
1 |2 ERE 110]28/17| 10|28/ 6|4]|2|0]|56 |23 | 2435
2 |29 BEBER 111728 1]10|28(14/ 3| 1| 1|45 |42 | 1.071
3 (32 dtiEE 11628/ 0| 1(14|28 2(0[2]|20|56| 0.357
J)L—2C -
3 EEE [28 LA [33 IR [ ot o PN
IBRL | F—Ls | 'k [FKaor| ®ok [Reor] £k [Raor B A RAbk
slxlalxlalxlalxlaglxla]lxl™Blal ] £ [=2@w/%
1 |3 EER 1]10]28/15/1|0(28/ 814 0(56 |23 | 2435
3 (28 #FHEBE 115[28 0| 1]19(28] 2 2134 |56 | 0.607
2 (33 FIIE 118128/ 1|0(28[19 3 1136|47| 0.766
27 )L—JD
4 ﬁ%EJ/LR 27 11&\ /LR 34 E /LR kK| =+ A S /-~
IBGL | F—Ls | 'k [Raor] Bk [Raor] ok [Raok e Ak
slxlalxlalzlalzlaglxzlsglzl™Blal ] £ =2@\m/%
1 |4 BER 1]10]28[17| 1|0|28[19] 4 0|56 |36 | 1.556
3 |27 EBE 111728 0| 1]14]|28| 2 2(31 |56 | 0.554
2 |34 BHEE 1(19/28[ 1] 0(28|14 3 1147142 1119
7 )L—JE — - -
5 SR |26 FfElR (35 MR [ =5 A N
BRI | F—Ls | 'ub [Reor] Bk [Raor] ok [Raor B 5 Ak
slxlglxlglzlalalsglxlsglx]l™(Blal 8] £ [2@E/%
1 |5 BHE 110(28{18/1|01(28|16/4|2| 0|56 |34 | 1.647
2 |26 HEEE 118|28 1]10(28]26| 3 1146 |54 | 0.852
3 |35 FALLE 1116|128/ 0| 1 (26|28 2(0|2|42|56| 0.750




2 IJL—TF -
6 REALE |25 BFE 36%?%%? RAIR
IBEL | F—L vk [RAoF ok [RAoF] ok [Reor] 7| 8 ARl =
slxlglxlglzlalalsglxlsglxl™Blal 8] £ [=2@E/%
3 |6 HEXE 0|1]16[28| 0| 1(20({28/2|0|2|36 |56 | 0.643
2 |25 BFE |1]|0](28|16 0| 1]/20[28| 3 1148 |44 | 1.091
1 |36 EEFE |1|0/28[20] 1| 0](28]20 412(0|56|40]| 1.400
2 I)L—2G
7 2IlE 24 BEE [3] SIBE (g o o
BRI | F—L | wyk |[Raok| £k |[Raor| £k [Raok e Ak
slelslxlglalslelalxlsl2]™Blal s £ [=2@\E/%
1 |7 BWLE 110(30{29| 1|0(28/19/4|2]| 0|58 |48 | 1.208
2 |24 $53EE 1129|30 1]0/28|24| 3 1|57 |54 | 1.056
3 (37 EIFE 1(19|28[ 0| 1 (24|28 210|2|43|56| 0.768
2 JL—JH
8 — 25 [23 XRIE [38 AIRAT Bl st RAR
IEfz | F—L [Tk [RAH £k [RAV] ok [Rab 2] &5 M1~
slelslelglelslelaglxlsl£™Blal g £ [EdE/x
2 |8 =ZEE 0| 121|128/ 1|0|28/17[3|1| 1|49 |45 | 1.089
1 (23 ZIBE 0 |28|21 1]10/28/18| 4 0(56 |39 | 1.436
3 (38 KMRFF|O 17|28/ 0| 11828 2 2(35|56| 0.625
7 JL—J1
9 INOE 22 AR [39 ZRE || ot o o
Bz | F—ALs tvl~ RAUK b [RAUK b [Raok B A Ak
slxlslxlaglalslslalazlslz]™Blal g £ [=2@\E/%
1 |19 WOg 1]10/|28|16]/ 1| 0(28[22|4|2|0|56 |38 | 1.474
3 |22 HHiKE 116[28 0|1]16[28] 2 2132 |56 | 0.571
2 |39 ERE 1122|128 1| 0/(28|16 3(1]1]50|44| 1.136
2 I)L—2J
10 ZHE [21 IR [40 ADE || zx o P
BRI | F—L | 'uk [Faor Bk [Raor] £uk 7!'\4/I~H§ LS Ak
slxlalxlalzlalzlaglxlsglzl™Blal ] £ =2@w/%
1 [10 EHE 1]10]28/11|1|0|28[10]4]|2|0]|56 |21 | 2.667
3 (21 LU 1111]28 0| 1]14]|28| 2 2125 |56 | 0.446
2 |40 KHE 1(10/28[ 1| 0(28|14 3|11]1[38]|42| 0905
2 JL—JK
1 BEREBE[20 TEE [41 AR || oxa P
BRI | F—Ls | 'uk [Reor| €k [Raor] ok [Raor B 35 Ak
slxlglxlglzlaslxlsglxlsglxl™Blal 8] £ [=2@E/%
11 ERBE 0|1]17/28/ 0| 1(24|28/2|0|2|41 |56 | 0.732
2 (20 FEE |1|0]28|17 0| 1]|24[28]| 3 1152 |45 | 1.156
1 |41 BB [1]0](28][24]| 1]|0/(28]|24 412|0|56|48| 1.167




JIL—JL

12

IR

19 e

25N

42

BRI | F—L | 'k [Kaor] w2y [Baor] ok ﬁ«r»ﬂﬁ zHal=] AR
slxlalxlalxlalxlalxlalx|™(Blal 8] x [EWE/%)
1 (12 BEE 110/28|18[ 1|0|28/10/4]|2| 0|56 |28 | 2.000
2 (19 FBEE (0] 1]18(28 110129(27| 3 1(47 |55 | 0.855
3 (42 t2EE |0 1(10[28[ 0] 1[27]|29 2(0(2]37|57| 0.649
27 )IL—TM _ _
13 TAHE [18 fei & [43 feiE ] =t HAR
B | F—L [k [Raor] ok [Raor] ok [Raor]| 2[5
slelslxlglalslelalxlsl2]™Blal s £ [=2@\E/%
2 [13 #EHE 0|1]16/28/1|0|28(24| 3| 1| 1|44 |52 | 0.846
1 (18 f8HE [1]0(28]|16 1101(28[17| 4 0(56 |33 | 1.697
3 |43 BRIE [0]|1(24]|28[ 0] 1[17]|28 2 2141(56| 0.732
2 JL—N
14 IUELE  1(28-25)0 17 IHEIE x| S Ak
* Bhr| F—o WSS O~
Riglal 6| & |=@B/%)
1 |14 UELE |4]12(0|56 (48| 1.167
1(28-23)0 1(28-11)0
2 (17 HEBE |3]|1]1(53(39]| 1.359
3 (44 F0FLIE| 3| 1]1]39]|54]| 0.722
47 EBE 0(26-28)1 44FFLE | 4 (47 kBB |2(0]2(49|56| 0875
2I)L—J0
15 FHE 0(23-28)1 16 RIFE P R RAk
3 | F—u |BPEEE
Rllal 8| % |=@E/%
4 |15 EHFE (2(0(2(40 |56 | 0.714
0(17-28)1 0(13-28)1 ki
3 |16 RIFE |3|1|1(41 |51 | 0.804
1 |45 #®ZE)IIE|[4]|2]|0]|56(|37] 1514
46 BIEIR 0(24-28)1 45 wm=NE | 2 |46 ZIEE [3(1]1]52]|45| 1.156




